TM2EE ZEXEERBRRKE - E

A FN34E5 A 1 HBIE

M3 SRR RS R — X Ml /3% SRR AR S — M35 SRR % L ARTE S — 2 SRS R
AR A A A N A FA AR EIEI R AR R R A A R E R A R AR A B A A E A A AR A
Wl x| B ¥ ol fik B g ¥ gy | e | ) | B ¥ ol S B | ¥ )
Hil: e e \ - + . ‘ N EARAERE; . : o | g | R , L
4] W E| o | 2 W E| o |2 2 Wl E|O|2E|H|EF| | W E| o |5
. . % B I i [ 5 &b E |k
] 2 B | s ics ¥ v = | H ic 2ol v lele B ic % " 5; = | B ic £
AL Al AE ISR IR A AR AR A A A AR R A A A A E A A E S S A Ak A A A R A A A A A AR A A A A A AR A
1 3 5 6 1 3119 19| 27 1 1129 8 2 1 2 5 1 6 71231271 9 2 1 1 170] 1 75
1 1 2 1 1 1 1 2 1 3 5 B 1
1 1 4 1 2 1 4 6
1 1 1 1 1 1
1 1
1 1 1 23 1 1 1 6 2 2 1 1
1 3 6 6 2 2 4 | 24 1 |25] 27 2 1| 30 1 131] 3 1 4 2110 2 12| 8 | 32127 | 9 2 3 1182] 2 84
4% | 13%| 25%]| 25%| 8% 8% | 17% 90% % 3% 30% 4% 40%| 8% 10%{39%|33%| 11%| 2% | 4% 1%
< >« > > < >« > > > )
90% 10% 100% 50% 50% 93.8% 3.7%
(H5 P (— i) () (— k) (F k) (— i) (B[ ) (—5Hk)
" i 4 EXIESPR BEEREI—R 100. 0% (24 ~ 24)
B s A ER BER BILEERIEI—X 100. 0% (30 ~ 30)
# AF - - eh&E)= 97.3% (146 .~ 150)
T A EREER SEEFERIEI—R 83.3% (10 ~ 12)
= HRREEH 97.6% (82 .~ 84)

XIEREX RARERHNIE

MAERMNER ERREEE100%ELIHEDMER

XABWNR: ERREFENOEFEFERORBEZ100%LLII5E DFFIBEE LU —REBOMER
MERRE R =ERREER(EXRE-ZTOMH)




